MR RBEIS| EE

F(12H7H~12H20B%FE%H)

JAL/JTA/JAC/RAC

noo st R FAEEIS] INRAR R RMEIS| SIREMN BRI RBEIE
XFH #ad | BHBO HER E—78 E—5E E—5E

a0 | FE0 | EEG) 12/7-12/20 251% g% |[12/7-12/20 251% {ig& |[12/7-12/20 251% -3
RRCPA) =24 [EECHA)H| I+ (GBH) JAL/JTA[JTA/RAC 57,700 6% 28,850 53% 35,500 42%
EH% [HEGH) JTA/RAC[JAL/JTA 57,700 6% 28,850 53% 35,500 42%
RRECHA) =R\ [EFECRR) |+ (HBH) JAL/JTA| JTA 61,500 8% 30,750 54% 37,950 43%
AEHE [HEGER) JTA [JAL/JTA 61,500 8% 30,750 54% 37,950 43%
KB (7} =% @31 | KRk () [ R= CRA) JAL JAL 45,500 33% 22,750 66% 27,850 59%
HLIE (i T %) JAL JAL 45,500 32% 22,750 66% 27,850 58%
i FE | RECHEH) JAL JAL 45,500 33% 22,750 66% 27.850 59%
LR (T %) JAL JAL 45,500 32% 22,750 66% 27,850 58%
KB (B8TE) =% 3 | Kbk (B3#E) 5| = CRIEA) JAL JAL 45,500 33% 22,750 66% 27,850 59%
LR (i T %) JAL JAL 45,500 32% 22,750 66% 27,850 58%
i FE | RECHEH) JAL JAL 45,500 33% 22,750 66% 27,850 59%
HLIE (i T %) JAL JAL 45,500 32% 22,750 66% 27,850 58%
KR (FFH =heJIl [ KBR (R F}) %[ 3R CHEH) JAL JAL 42,800 35% 21,400 68% 26,200 60%
B  [HECHE) JAL JAL 42,800 35% 21,400 68% 26,200 60%
KR (BE7E) =hBJIl | KBR (BE7E) %[ 3R CHEH) JAL JAL 42,800 35% 21,400 68% 26,200 60%
BN  [HECHE) JAL JAL 42,800 35% 21,400 68% 26,200 60%
KR (FFH) =8B [ KBx (R F) %[ 3R CHEH) JAL JAL 43,600 34% 21,800 67% 26,500 60%
fipER  [HECHH) JAL JAL 43,600 34% 21,800 67% 26,500 60%
KR (BE7E) =8B [ KBx (RE7E) %[ 3R CHEH) JAL JAL 43,600 34% 21,800 67% 26,500 60%
fiER  [HECHH) JAL JAL 43,600 34% 21,800 67% 26,500 60%
KR (BFH) =5 [ KB (R F) %[ 3R CHEH) JAL JAL 43,100 34% 21,550 67% 26,200 60%
HLERE [FECHE) JAL JAL 43,100 34% 21,550 67% 26,200 60%
KR (BE7E) = /5 | KB (BE7E) %[ 3R CHEH) JAL JAL 43,100 34% 21,550 67% 26,200 60%
HLE% [ CHE) JAL JAL 43,100 34% 21,550 67% 26,200 60%
KR (FRFH) =&E | KBR (R F) %[ 3R CHEH) JAL JAL 44,000 24% 22,000 62% 26,450 55%
BHEER [HECHHE) JAL JAL 44,000 24% 22,000 62% 26,450 55%
ABR FFD) % | /R CHH) JAL JAL 40,000 29% 20,000 64% 24,200 57%
ZR% [HECHH) JAL JAL 40,000 29% 20,000 64% 24,200 57%
ABR (B878) 5| RE CHHEH) JAL JAL 40,000 29% 20,000 64% 24,200 57%
S EGAETE)) JAL JAL 40,000 29% 20,000 64% 24,200 57%
KB (77 =R [ KRR (FFH % E JAC JAC 20,500 37% 10,250 69% 13,100 60%
ETES = JAC JAC 20,500 37% 10,250 69% 13,100 60%
KB () =7 5| X0k (FFH ;wh% JAC JAC 32,600 22% 16,300 61% 20,850 50%
BFEHE BRE JAC JAC 32,600 22% 16,300 61% 20,850 50%
KR (BFH == [ KB (RFH) F[ 048 (BBIE) JAL _[JTA/RAC 46,000 16% 23,000 58% 27,500 50%
EOX [HEGH) JTA/RAC| JAL 46,000 16% 23,000 58% 27,500 50%
KR (BEE) == | KB (REdE) F| P48 (BBIR) JAL/JTA|JTA/RAC 46,000 16% 23,000 58% 27,500 50%
EH% [EGH) JTA/RAC[JAL/JTA 46,000 16% 23,000 58% 27,500 50%
KR (FH =18 [ KB (RFH) F| 048 (BEH) JAL JTA 50,600 16% 25,300 58% 31,000 49%
AEHE [HEGER JTA JAL 50,600 16% 25,300 58% 31,000 49%
KR (BE7E) =FR1E | KB (REFE) F|H#E (BBIR) JAL/JTA| JTA 50,600 16% 25,300 58% 31,000 49%
AEH [HEER JTA [JAL/JTA 50,600 16% 25,300 58% 31,000 49%
LR (FE) =% 8| & EE (P ED) F[4LIE (T i) JAL JAL 41,600 34% 20,800 67% 25,450 60%
ZmAFE R EFTR JAL JAL 41,600 34% 20,800 67% 25,450 60%
AHE (P ==& |£5E (h ) £ G5 JTA _[JTA/RAC 47,000 21% 23,500 60% 28,150 53%
EH% [EGH) JTA/RAC| JTA 47,000 21% 23,500 60% 28,150 53%
AT E (FE) =RiE[£5E () 2[4 G5 JTA JTA 48,000 26% 24,000 63% 28,950 55%
AEH [HEGER) JTA JTA 48,000 26% 24,000 63% 28,950 55%
IR (BT ) =/MA[ALIR BT | R CREA) JAL JAL 36,000 40% 18,000 70% 21,450 64%
AR [FEECHE) JAL JAL 36,000 40% 18,000 70% 21,450 64%
FLOR G T %) = Rel (L [4LI% (T ) | R CHH) JAL JAL 37,000 46% 18,500 73% 22,400 67%
FELFE  [HECRA) JAL JAL 37,000 46% 18,500 73% 22,400 67%
IR ET%) =L 8B [4LIR @ T 2| HR CHEH) JAL JAL 38,000 45% 19,000 72% 23,050 66%
LEB% [FECHH) JAL JAL 38,000 45% 19,000 72% 23,050 66%
IR (B F %) = IO 8| #LIR BT %) % R CRH) JAL JAL 43,000 41% 21,500 70% 26,900 63%
WOFEFE [HECHE) JAL JAL 43,000 41% 21,500 70% 26,900 63%
AR BT %) =HE 4R @ T %[ HR CHH) JAL JAL 40,000 42% 20,000 71% 23,950 65%
EX |[ERCRHA) JAL JAL 40,000 42% 20,000 71% 23,950 65%
IR BT %) =B AR @ T %[ HE (CHH) JAL JAL 41,000 39% 20,500 70% 24,950 63%
mEH [FECHH) JAL JAL 41,000 39% 20,500 70% 24,950 63%
IR BT %) == [ALIR ) 2| HR CHE) JAL JAL 42,000 38% 21,000 69% 25,550 62%
=% [FECHHE) JAL JAL 42,000 38% 21,000 69% 25,550 62%
IR (BT %) ==& [ALIR G ) | =R CRA) JAL JAL 44,000 36% 22,000 68% 26,500 62%
=A% [FECHH) JAL JAL 44,000 36% 22,000 68% 26,500 62%
IR (BT ) =AU [ALIR G F#) | R CREA) JAL JAL 46,000 34% 23,000 67% 27,950 60%
Wl [FECHHE) JAL JAL 46,000 34% 23,000 67% 27,950 60%
ALIR BT 5% =LA [ALIR B T #%) 5| S CRIE) JAL JAL 45,000 40% 22,500 70% 26,900 64%
EAMFE |RFECHEH) JAL JAL 45,000 40% 22,500 70% 26,900 64%
IR E T %) = K5 LR @ T % RR CHH) JAL JAL 45,000 39% 22,500 69% 26,900 63%
Ao% [FECHH) JAL JAL 45,000 39% 22,500 69% 26,900 63%
LR BT %) =R 4R @ T % HR CHEH) JAL JAL 47,000 39% 23,500 69% 28,150 63%
5 R (CHH) JAL JAL 47,000 39% 23,500 69% 28,150 63%
LR GBI T %) = RE AR [4LIR (T 2| RIR CHH) JAL JAL 46,000 38% 23,000 69% 27,500 63%
A% [HECHH) JAL JAL 46,000 38% 23,000 69% 27,500 63%
IR BT %) = =i [4LIR (T 2| R CHH) JAL JAL 47,000 37% 23,500 68% 28,150 62%
ER%E [RRCRA) JAL JAL 47,000 37% 23,500 68% 28,150 62%
AR FFR) =ERS[ ARG TR | RR CRA) JAL JAL 52,000 32% 26,000 66% 31,350 59%
BERE% |RZE(HH) JAL JAL 52,000 32% 26,000 66% 31,350 59%
AL R 2% =8 (IR | ALIR (BT F %) %[ R R (BIE) JAL _[JAL/JTA 54,000 31% 27,000 66% 32,750 58%
KB (BFE) JAL [JAL/JTA 54,000 32% 27,000 66% 32,750 59%
£HE (PEH) JAL JTA 54,000 33% 27,000 66% 32,750 59%
128 JAL JTA 54,000 35% 27,000 67% 32,750 60%
AR (B! F|RE (HH) JAL/JTA] JAL 54,000 31% 27,000 66% 32,750 58%
KB (BFE) JAL/JTA| JAL 54,000 32% 27,000 66% 32,750 59%
£EHE (PEH) JTA JAL 54,000 33% 27,000 66% 32,750 59%
128 JTA JAL 54,000 35% 27,000 67% 32,750 60%
12 =% 3l [EEEINEVACRT:) JAL JAL 55,000 33% 27,500 67% 33,350 59%
HLIE (i T %) JAL JAL 55,000 28% 27,500 64% 33,350 57%
ST ESACRED) JAL JAL 55,000 33% 27,500 67% 33,350 59%
HLIE (T %) JAL JAL 55,000 28% 27,500 64% 33,350 57%
2=l BE% [FECHH) JAL JAL 55,000 32% 27,500 66% 33,350 59%
B  [HECHH) JAL JAL 55,000 32% 27,500 66% 33,350 59%
1= =2 BE% [FECHH) JAL JAL 55,000 31% 27,500 66% 33,350 58%
SipEs  [HECHH) JAL JAL 55,000 31% 27,500 66% 33,350 58%
'l =%k BE% [FECHH) JAL JAL 55,000 31% 27,500 65% 33,350 58%
HhEHE [HECHH) JAL JAL 55,000 31% 27,500 65% 33,350 58%




MNERESEc EER(128A7H~12820BFES) JAL/JTA/JAG/RAC

et HRIRBEE INRAR R RMEIS| SIREMNLERIRBEIE]
X #ad | BHBO A= E—5E E—5E E—5H

a0 | KE0 [ EEG) 12/7-12/20 251% g% |[12/7-12/20 251% g% |[12/7-12/20 251% -3
12 =EKeE BE% [FECHH) JAL JAL 54,000 26% 27,000 63% 32,700 55%
BHAER [HECHH) JAL JAL 54,000 26% 27,000 63% 32,700 55%
ER=F% BER [FHECHH) JAL JAL 46,000 35% 23,000 68% 28,100 61%
KR (EFH JAL JAL 46,000 27% 23,000 63% 28,100 55%
B L ESACED) JAL JAL 46,000 35% 23,000 68% 28,100 61%
KR (EFH JAL JAL 46,000 27% 23,000 63% 28,100 55%
\E==iR BE% [FECHH) JAL JAL 45,500 36% 22,750 68% 27,800 61%
ZR% [HECHH) JAL JAL 45,500 36% 22,750 68% 27,800 61%
EE=1t5 BE% | KRR JAL JAL 44,500 28% 22,250 64% 27,150 56%
&R [ KRUFRFD JAL JAL 44,500 28% 22,250 64% 27,150 56%
fBE=#A BE%E [HER(HH) JAL JAL 45,000 32% 22,500 66% 27,050 59%
MEFEX [REREH JAL JAL 45,000 32% 22,500 66% 27,050 59%
KR (EFH JAL JAL 45,000 24% 22,500 62% 27,050 54%
2@ =L BER [FHECHH) JAL JAL 42,000 29% 21,000 65% 24,950 58%
AR (EFH JAL JAL 42,000 28% 21,000 64% 24,950 57%
W% [RRECRA) JAL JAL 42,000 29% 21,000 65% 24,950 58%
KR (EFH JAL JAL 42,000 28% 21,000 64% 24,950 57%
=R =" BE% | XBR (R JAL JAL 38,700 30% 19,350 65% 23,700 57%
FR% [ KERURFD JAL JAL 38,700 30% 19,350 65% 23,700 57%
2=/ BE% [HEECHE) JAL JAL 39,000 38% 19,500 69% 23,550 63%
IR E S A€ET:)) JAL JAL 39,000 38% 19,500 69% 23,550 63%
wER=2 BE% [ RE3) JTA [JTA/RAC 40,000 17% 20,000 59% 24,300 50%
B A L 16 ) JTA/RAC|  JTA 40,000 17% 20,000 59% 24,300 50%
RBE=FH1E BEF [ GRE) JTA JTA 40,500 25% 20,250 62% 24,750 54%
RiEX [ 8H) JTA JTA 40,500 25% 20,250 62% 24,750 54%
Es e ZEAFE IR FHTR) JAL JAL 33,000 39% 16,500 70% 19,500 64%
=3 Li% (3 F %) JAL JAL 33,000 39% 16,500 70% 19,500 64%
Es e ] ZEAFE IR EFHTR) JAL JAL 34,000 38% 17,000 69% 20,500 63%
FRE LI (FF &) JAL JAL 34,000 38% 17,000 69% 20,500 63%
A =R Zimp % | RECHEH) JAL JAL 44,000 35% 22,000 67% 26,350 61%
AR [FEECHE) JAL JAL 44,000 35% 22,000 67% 26,350 61%
i Al = RE Ll Zimp % | RECHEH) JAL JAL 48,000 37% 24,000 68% 28,800 62%
EE ES-ACET:)) JAL JAL 48,000 37% 24,000 68% 28,800 62%
LimAl=HE LB % | RECHEH) JAL JAL 46,000 40% 23,000 70% 27,850 64%
HEH [RRCRA) JAL JAL 46,000 40% 23,000 70% 27,850 64%
i A =l i A R (CHH) JAL JAL 52,800 32% 26,400 66% 31,700 59%
WL [FECHHE) JAL JAL 52,800 32% 26,400 66% 31,700 59%
JETITETR A MBI [FECHH) JAL JAL 44,000 33% 22,000 67% 25,350 61%
MR [FECHE) JAL JAL 44,000 33% 22,000 67% 25,350 61%
TBI=ML B  [HECHE) JAL JAL 48,000 35% 24,000 68% 28,800 61%
EE ESACET:)) JAL JAL 48,000 35% 24,000 68% 28,800 61%
BII=HE MBI  [FECHH) JAL JAL 46,000 39% 23,000 69% 27,200 64%
EX |[ERCRA) JAL JAL 46,000 39% 23,000 69% 27,200 64%
TENI=#21L B  [HECHH) JAL JAL 52,800 30% 26,400 65% 31,700 58%
WL [FECHHE) JAL JAL 52,800 30% 26,400 65% 31,700 58%
SRR =/ fipEs  [HECHHE) JAL JAL 41,200 37% 20,600 68% 24,950 62%
IR E S-1€EL:)) JAL JAL 41,200 37% 20,600 68% 24,950 62%
12 =Rl 1L fipEse  [HECHHE) JAL JAL 48,000 35% 24,000 67% 28,800 61%
FELFE [EHECRA) JAL JAL 48,000 35% 24,000 67% 28,800 61%
SR =HE SipEs  [HECHH) JAL JAL 46,000 38% 23,000 69% 27,850 63%
EXx |[ERCRHA) JAL JAL 46,000 38% 23,000 69% 27,850 63%
SIER =410 fipEs  [HECHH) JAL JAL 52,800 30% 26,400 65% 31,700 58%
WL [FECHH) JAL JAL 52,800 30% 26,400 65% 31,700 58%
HIE=/M2 HHFE |[HERCHEH) JAL JAL 44,000 32% 22,000 66% 25,350 61%
A [EE(CHE) JAL JAL 44,000 32% 22,000 66% 25,350 61%
HIE=MRL HLER  [FECHHE) JAL JAL 48,000 34% 24,000 67% 28,800 60%
FELFE  [HECRA) JAL JAL 48,000 34% 24,000 67% 28,800 60%
HL=HE HEE [ERER(CHH) JAL JAL 45,000 39% 22,500 70% 27,200 63%
HEH [RRCHA) JAL JAL 45,000 39% 22,500 70% 27,200 63%
HIL=H10 BHFE [HERCHEH) JAL JAL 52,800 29% 26,400 65% 31,700 58%
WL [FECHHE) JAL JAL 52,800 29% 26,400 65% 31,700 58%
B =R BHEER [FECHH) JAL JAL 36,400 37% 18,200 68% 21,800 62%
M [RECHE) JAL JAL 36,400 37% 18,200 68% 21,800 62%
R =Ll BHEER [FECHH) JAL JAL 47,000 29% 23,500 64% 28,150 57%
EE ESACET:)) JAL JAL 47,000 29% 23,500 64% 28,150 57%
HEE=HE BHAER [HECHHE) JAL JAL 45,000 33% 22,500 67% 27,200 60%
EX |[ERCRHA) JAL JAL 45,000 33% 22,500 67% 27,200 60%
BEE=HL BHEER [HECHHE) JAL JAL 51,700 24% 25,850 62% 31,000 54%
WL [FECHH) JAL JAL 51,700 24% 25,850 62% 31,000 54%
EEE=dL M BHEER  [HECHH) JAL JAL 54,000 26% 27,000 63% 32,700 55%
LA R (CHH) JAL JAL 54,000 26% 27,000 63% 32,700 55%
HEE=X% BAER  [HECHH) JAL JAL 43,000 40% 21,500 70% 25,900 64%
A% [FECHH) JAL JAL 43,000 40% 21,500 70% 25,900 64%
HEE=RI& BHEER  [HECHH) JAL JAL 45,000 40% 22,500 70% 26,900 64%
RB% [HECHH) JAL JAL 45,000 40% 22,500 70% 26,900 64%
BEE=FEA BfER  [HECHHE) JAL JAL 45,000 38% 22,500 69% 26,900 63%
A% [HFECHH) JAL JAL 45,000 38% 22,500 69% 26,900 63%
HE=25 BHEER  [HECHHE) JAL JAL 45,000 38% 22,500 69% 26,900 63%
ER%E [RRCHA) JAL JAL 45,000 38% 22,500 69% 26,900 63%
HE=ERS BHEER  [HECHHE) JAL JAL 46,000 38% 23,000 69% 27,500 63%
ERE HR CHH) JAL JAL 46,000 38% 23,000 69% 27,500 63%
BEH=/M EH%E  [ER(EH) JAL JAL 34,000 40% 17,000 70% 20,500 64%
AR [FEECHE) JAL JAL 34,000 40% 17,000 70% 20,500 64%
EH=RLL EHA%  [FAECHH) JAL JAL 38,000 41% 19,000 71% 23,050 64%
FELFE [RECRA) JAL JAL 38,000 41% 19,000 71% 23,050 64%
EH=LE EHA%  [HECHH) JAL JAL 39,000 40% 19,500 70% 23,700 64%
LEB% [FECHH) JAL JAL 39,000 40% 19,500 70% 23,700 64%
HEH=ILOFE EH%E [ER(EH) JAL JAL 41,000 41% 20,500 70% 24,950 64%
WOFEF [HECHE) JAL JAL 41,000 41% 20,500 70% 24,950 64%
EH=HE HH =R CRE) JAL JAL 38,800 41% 19,400 71% 23,550 64%
KR (EFH JAL JAC 38,800 34% 19,400 67% 23,550 60%
HEH [ERCRA) JAL JAL 38,800 41% 19,400 71% 23,550 64%
KRR (EFH JAC JAL 38,800 34% 19,400 67% 23,550 60%
EH=RE EHA%  [FECHH) JAL JAL 36,000 44% 18,000 72% 21,750 66%
mER [HECHH) JAL JAL 36,000 44% 18,000 72% 21,750 66%




MFRIRBESI EER(12A7A~12A208E%5)

JAL/JTA/JAC/RAC

st R EIS INRAR R RMEIS| SAREMNVERFRIRMEES]
X #ad | BHBO A= E—5E E—5E E—5E

a0 | KE0 [ EEG) 12/7-12/20 251% g% |[12/7-12/20 251% g% |[12/7-12/20 251% -3
EH=mi EH%E  [ER(EH) JAL JAL 38,000 41% 19,000 70% 23,050 64%
=2 [HRER(CHEH) JAL JAL 38,000 41% 19,000 70% 23,050 64%
=24 BEHA%  [FECHH) JAL JAL 39,000 41% 19,500 70% 23,700 64%
=A% [FECHH) JAL JAL 39,000 41% 19,500 70% 23,700 64%
BEH=L EH%E  [ER(EH) JAL JAL 39,000 41% 19,500 71% 23,700 64%
Wl [FECHHE) JAL JAL 39,000 41% 19,500 71% 23,700 64%
BEHR=IdAM EH%E [ER(EH) JAL JAL 46,000 35% 23,000 68% 28,100 61%
LAME |RFECHH) JAL JAL 46,000 35% 23,000 68% 28,100 61%
EH=KX% B ESACED) JAL JAL 41,000 42% 20,500 71% 24,950 64%
KR (EFH JAL JAL 41,000 32% 20,500 66% 24,950 59%
X% [HECHH) JAL JAL 41,000 42% 20,500 71% 24,950 64%
KR (EFH JAL JAL 41,000 32% 20,500 66% 24,950 59%
EH=R% B ESACED) JAL JAL 45,000 39% 22,500 69% 26,900 63%
KR (EFH JAL JAL 45,000 33% 22,500 66% 26,900 60%
RE% [HECHH) JAL JAL 45,000 39% 22,500 69% 26,900 63%
KR (EFH JAL JAL 45,000 33% 22,500 66% 26,900 60%
EH=EX B T ESACED) JAL JAL 43,000 40% 21,500 70% 25,900 64%
KR (EFH JAL JAL 43,000 33% 21,500 67% 25,900 60%
AR [HECHH) JAL JAL 43,000 40% 21,500 70% 25,900 64%
AR (EFH JAL JAL 43,000 33% 21,500 67% 25,900 60%
=24 B ESACED) JAL JAL 43,000 40% 21,500 70% 25,900 64%
KR (EFH JAL JAL 43,000 33% 21,500 67% 25,900 60%
R ESACET:)) JAL JAL 43,000 40% 21,500 70% 25,900 64%
KR (EFH JAL JAL 43,000 33% 21,500 67% 25,900 60%
EH=ERS B S ESACETD) JAL JAL 45,000 39% 22,500 69% 26,900 63%
KR (EFH JAL JAC 45,000 34% 22,500 67% 26,900 60%
BREXE |[RE(HH) JAL JAL 45,000 39% 22,500 69% 26,900 63%
AR (EFH JAC JAL 45,000 34% 22,500 67% 26,900 60%
ZIR=/# ZR%  [HECHH) JAL JAL 34,000 39% 17,000 70% 20,500 63%
MRFE [FECHE) JAL JAL 34,000 39% 17,000 70% 20,500 63%
=iR=EW ZiR%  [HECHH) JAL JAL 38,000 41% 19,000 70% 23,050 64%
£ |RECHEH) JAL JAL 38,000 41% 19,000 70% 23,050 64%
ZR=IE% £ |RECHEH) JAL JAL 39,000 40% 19,500 70% 23,700 63%
£ |RECHH) JAL JAL 39,000 40% 19,500 70% 23,700 63%
ZR=WOFE £ |RECHH) JAL JAL 41,000 40% 20,500 70% 24,950 64%
% |HECRA) JAL JAL 41,000 40% 20,500 70% 24,950 64%
ZIR=HZE £ |RECHH) JAL JAL 39,900 39% 19,950 69% 24,250 63%
£ [EHEFECRMA) JAL JAL 39,900 39% 19,950 69% 24,250 63%
ZR=#5 t [ CHA) JAL JAL 36,000 43% 18,000 72% 21,750 66%
£ |RECHH) JAL JAL 36,000 43% 18,000 72% 21,750 66%
ZiR=@i £ [EHFECRMA) JAL JAL 38,000 40% 19,000 70% 23,050 64%
£ |RECHH) JAL JAL 38,000 40% 19,000 70% 23,050 64%
£ |RECHH) JAL JAL 38,000 42% 19,000 71% 23,050 65%
£ |RECHH) JAL JAL 38,000 42% 19,000 71% 23,050 65%
£ |RECHH) JAL JAL 39,000 41% 19,500 70% 23,700 64%
£ |RECHH) JAL JAL 39,000 41% 19,500 70% 23,700 64%
£ [EHFECRA) JAL JAL 45,500 36% 22,750 68% 27,800 61%
HE(CHH) JAL JAL 45,500 36% 22,750 68% 27,800 61%
£ |RECHH) JAL JAL 41,000 41% 20,500 71% 24,950 64%
£ |RECHH) JAL JAL 41,000 41% 20,500 71% 24,950 64%
£ |RECHH) JAL JAL 45,000 38% 22,500 69% 26,900 63%
£ |RE(HH) JAL JAL 45,000 38% 22,500 69% 26,900 63%
ZIR=RR £ |RECHEH) JAL JAL 43,000 39% 21,500 70% 25,900 63%
£ |RECHH) JAL JAL 43,000 39% 21,500 70% 25,900 63%
ZiR=8& £ |RECHH) JAL JAL 43,000 39% 21,500 70% 25,900 63%
£ |RECHH) JAL JAL 43,000 39% 21,500 70% 25,900 63%
ZR=ERS £ |RECHH) JAL JAL 45,000 38% 22,500 69% 26,900 63%
FR CHH) JAL JAL 45,000 38% 22,500 69% 26,900 63%
PR =/ £ |RECHH) JAL JAL 33,000 35% 16,500 68% 19,800 61%
£ |RECHH) JAL JAL 33,000 35% 16,500 68% 19,800 61%
FE=RLL £ [EHEFECRMA) JAL JAL 34,000 42% 17,000 71% 20,500 65%
£ |RECHH) JAL JAL 34,000 42% 17,000 71% 20,500 65%
MHE=L5 £ |RECHH) JAL JAL 36,000 40% 18,000 70% 21,750 64%
£ |RECHH) JAL JAL 36,000 40% 18,000 70% 21,750 64%
#EA=LAFE £ |RECHH) JAL JAL 39,000 39% 19,500 69% 23,700 63%
WOFEFE [HECHE) JAL JAL 39,000 39% 19,500 69% 23,700 63%
MHE=HE AR [HECHH) JAL JAL 34,000 44% 17,000 72% 20,500 66%
AR (EFH JAL JAC 34,000 39% 17,000 69% 20,500 63%
HEH [ERRCRA) JAL JAL 34,000 44% 17,000 72% 20,500 66%
KR (EFH JAC JAL 34,000 39% 17,000 69% 20,500 63%
MHE=ES ThEF [EECHH) JAL JAL 34,000 42% 17,000 71% 20,500 65%
mE%E [HER(CHHE) JAL JAL 34,000 42% 17,000 71% 20,500 65%
MHA=E1 BEEX [FRRERCEH) JAL JAL 36,000 38% 18,000 69% 21,750 63%
2% [HRER(CHEH) JAL JAL 36,000 38% 18,000 69% 21,750 63%
MEA=2% BEE [FRRERCEH) JAL JAL 36,000 40% 18,000 70% 21,750 64%
2% [HERCHEH) JAL JAL 36,000 40% 18,000 70% 21,750 64%
FE=L PEZEX [FRERCEH JAL JAL 38,000 38% 19,000 69% 23,050 62%
WL [FECHHE) JAL JAL 38,000 38% 19,000 69% 23,050 62%
FE=dt M PEE [ERER(CEH) JAL JAL 45,000 32% 22,500 66% 27,050 59%
LAME |RZECHH) JAL JAL 45,000 32% 22,500 66% 27,050 59%
ME=X% MEFEX [REREH JAL JAL 39,000 40% 19,500 70% 23,700 63%
KR (EFH JAL JAL 39,000 31% 19,500 66% 23,700 58%
X% [HECHH) JAL JAL 39,000 40% 19,500 70% 23,700 63%
KR (EFH JAL JAL 39,000 31% 19,500 66% 23,700 58%
MEH=RI& AR [HECHH) JAL JAL 41,200 39% 20,600 70% 24,950 63%
KR (EFH JAL JAL 41,200 35% 20,600 67% 24,950 60%
RE% [HECHH) JAL JAL 41,200 39% 20,600 70% 24,950 63%
KR (EFH JAL JAL 41,200 35% 20,600 67% 24,950 60%
FE=REAX BER [HECHH) JAL JAL 41,000 38% 20,500 69% 24,950 62%
KR (EFH JAL JAL 41,000 33% 20,500 66% 24,950 59%
REA% [HECHH) JAL JAL 41,000 38% 20,500 69% 24,950 62%
KRR (EFH JAL JAL 41,000 33% 20,500 66% 24,950 59%
MH==I& AR [HECHH) JAL JAL 41,000 38% 20,500 69% 24,950 62%
KR (FH JAL JAL 41,000 33% 20,500 66% 24,950 59%
R ESACET:)) JAL JAL 41,000 38% 20,500 69% 24,950 62%
KR (EFH JAL JAL 41,000 33% 20,500 66% 24,950 59%




MNERESEc EER(128A7H~12820BFES) JAL/JTA/JAG/RAC

st R EIS INREBIEHREIS] SAREMNVERFRIRMEES]
B #ad | BHBO A= E—55 E—5E E—5E

a0 | KE0 [ EEG) 12/7-12/20 251% g% |[12/7-12/20 251% g% |[12/7-12/20 251% -3
ME=FERS HEE [ERCEH) JAL JAL 43,000 37% 21,500 68% 25,900 62%
KR (EFH JAL JAC 43,000 33% 21,500 67% 25,900 60%
EREH [HECHH) JAL JAL 43,000 37% 21,500 68% 25,900 62%
KR (EFH JAC JAL 43,000 33% 21,500 67% 25,900 60%
Wz =/hi Wiz %  |[RECRA) JAL JAL 32,000 28% 16,000 64% 18,950 57%
MAFE [HECHE) JAL JAL 32,000 28% 16,000 64% 18,950 57%
IRz =R W% [RECRA) JAL JAL 34,000 35% 17,000 68% 20,500 61%
FELFE [RECRA) JAL JAL 34,000 35% 17,000 68% 20,500 61%
W =55 W% |[RECRA) JAL JAL 35,000 34% 17,500 67% 21,100 60%
LEB% [FECHH) JAL JAL 35,000 34% 17,500 67% 21,100 60%
Wiz =110 54 iR % |[RECRA) JAL JAL 39,000 32% 19,500 66% 23,700 58%
WOFERF [HECHE) JAL JAL 39,000 32% 19,500 66% 23,700 58%
WR=H=E W% [RRECRA) JAL JAL 35,000 35% 17,500 68% 21,100 61%
AR (EFH JAL JAC 35,000 36% 17,500 68% 21,100 61%
EX |[RRCRA) JAL JAL 35,000 35% 17,500 68% 21,100 61%
KR (EFH JAC JAL 35,000 36% 17,500 68% 21,100 61%
=% W% |[RECRA) JAL JAL 34,000 35% 17,000 67% 20,500 61%
mEH [FECHH) JAL JAL 34,000 35% 17,000 67% 20,500 61%
iR =mn W% [EFECRA) JAL JAL 34,000 35% 17,000 67% 20,500 61%
2% [HERCHEH) JAL JAL 34,000 35% 17,000 67% 20,500 61%
R =m=% W% |[RECRA) JAL JAL 35,000 35% 17,500 68% 21,100 61%
=A% [FECHH) JAL JAL 35,000 35% 17,500 68% 21,100 61%
Wiz =#xl W% |[RECRA) JAL JAL 35,000 36% 17,500 68% 21,100 61%
WL [FECHH) JAL JAL 35,000 36% 17,500 68% 21,100 61%
Wiz =4t A AME |RFECHH) JAL JAL 42,000 29% 21,000 65% 24,950 58%
wk=X% W% [RRECRA) JAL JAL 40,000 31% 20,000 66% 24,300 58%
AR (EFH JAL JAL 40,000 28% 20,000 64% 24,300 56%
X% [HECHH) JAL JAL 40,000 31% 20,000 66% 24,300 58%
AR (EFH JAL JAL 40,000 28% 20,000 64% 24,300 56%
W =Ki& W% [RRECRA) JAL JAL 43,000 30% 21,500 65% 26,250 57%
KR (EFH JAL JAL 43,000 31% 21,500 65% 26,250 58%
RE% [HECHH) JAL JAL 43,000 30% 21,500 65% 26,250 57%
AR (EFH JAL JAL 43,000 31% 21,500 65% 26,250 58%
Wz =HEK W% [RRECRA) JAL JAL 41,000 31% 20,500 65% 24,950 58%
KR (EFH JAL JAL 41,000 31% 20,500 66% 24,950 58%
A% [HAECHH) JAL JAL 41,000 31% 20,500 65% 24,950 58%
KR (EFH JAL JAL 41,000 31% 20,500 66% 24,950 58%
W =gEi& W% [RRECRA) JAL JAL 41,000 31% 20,500 65% 24,950 58%
KR (EFH JAL JAL 41,000 31% 20,500 66% 24,950 58%
R ESACETE)) JAL JAL 41,000 31% 20,500 65% 24,950 58%
AR (EFH JAL JAL 41,000 31% 20,500 66% 24,950 58%
W =ERSE W% [RRECRA) JAL JAL 43,000 30% 21,500 65% 26,250 57%
KR (EFH JAL JAC 43,000 32% 21,500 66% 26,250 58%
EREH [HECHH) JAL JAL 43,000 30% 21,500 65% 26,250 57%
KR (EFH JAC JAL 43,000 32% 21,500 66% 26,250 58%
e =H=E mEFE [ XREREEFD JAL JAC 34,000 36% 17,000 68% 20,500 62%
HEHX [ KREEF JAC JAL 34,000 36% 17,000 68% 20,500 62%
e =X &R [ XREREEFD JAL JAL 38,000 30% 19,000 65% 23,050 58%
KoFE | KREEFD JAL JAL 38,000 30% 19,000 65% 23,050 58%
e =RKix &R [ XREREEFD JAL JAL 41,000 33% 20,500 66% 24,950 59%
RIBFE [ XREEFD JAL JAL 41,000 33% 20,500 66% 24,950 59%
s =HReAR &R [ XREREEFD JAL JAL 39,000 34% 19,500 67% 23,700 60%
REARE [ KR(EEFD JAL JAL 39,000 34% 19,500 67% 23,700 60%
& ==& mEFE [ XREREEFD JAL JAL 41,000 30% 20,500 65% 24,950 57%
=g [ KR(EF JAL JAL 41,000 30% 20,500 65% 24,950 57%
me=ERrRs &R [ KEREEFD JAL JAC 41,000 34% 20,500 67% 24,950 60%
KRR (EFH JAC JAL 41,000 34% 20,500 67% 24,950 60%
FR=HE £ |RBR(FFD JAL JAC 31,000 40% 15,500 70% 18,550 64%
£ [ KBR(FD JAC JAL 31,000 40% 15,500 70% 18,550 64%
FR=K £ |RBR(FFD JAL JAL 36,000 32% 18,000 66% 21,750 59%
£ [ KBR(FD JAL JAL 36,000 32% 18,000 66% 21,750 59%
FR=RIK £ |RBR(FFD JAL JAL 39,000 34% 19,500 67% 23,700 60%
£ [ KBR(FD JAL JAL 39,000 34% 19,500 67% 23,700 60%
FR=EEX £ |RBR(FFD JAL JAL 38,000 33% 19,000 67% 23,050 59%
£ [ KBR(FD JAL JAL 38,000 33% 19,000 67% 23,050 59%
FR=E4 £ |XBR(FFD JAL JAL 38,000 33% 19,000 67% 23,050 59%
£ [ KBR(FD JAL JAL 38,000 33% 19,000 67% 23,050 59%
FR=ERS £ [ KERURFD JAL JAC 39,000 35% 19,500 68% 23,700 61%
KR (FFH JAC JAL 39,000 35% 19,500 68% 23,700 61%
MR =FE 1L IMAFE [RHECHH) JAL JAL 32,400 43% 16,200 71% 19,350 66%
FIL% [EHEFECHA) JAL JAL 32,400 43% 16,200 71% 19,350 66%
IMA=TRE MM [FHRECHH) JAL JAL 33,000 42% 16,500 71% 19,800 65%
LEE% [FECHH) JAL JAL 33,000 42% 16,500 71% 19,800 65%
IMA=LAFER MR [FRECHE) JAL JAL 37,000 39% 18,500 70% 22,200 63%
WOFERF |HECHE) JAL JAL 37,000 39% 18,500 70% 22,200 63%
IMNR=HE IR E S-1€EL:)) JAL JAL 34,000 41% 17,000 71% 20,150 65%
HEH [RRCRA) JAL JAL 34,000 41% 17,000 71% 20,150 65%
INR=TES N7 E GACET:)) JAL JAL 31,700 43% 15,850 72% 18,900 66%
EEH |[FECHH) JAL JAL 31,700 43% 15,850 72% 18,900 66%
INR=F MRFE [FECHE) JAL JAL 32,000 43% 16,000 71% 18,950 66%
2% [HRERCHEH) JAL JAL 32,000 43% 16,000 71% 18,950 66%
INR=TE4 AR [FECHE) JAL JAL 34,000 41% 17,000 71% 20,150 65%
2% [HERCHEH) JAL JAL 34,000 41% 17,000 71% 20,150 65%
MEY=HALL AR [HEECHE) JAL JAL 34,200 41% 17,100 71% 20,500 65%
WL  [FECHHE) JAL JAL 34,200 41% 17,100 71% 20,500 65%
INR=FERM M [FHRECHE) JAL JAL 39,000 38% 19,500 69% 23,550 63%
e R (CHH) JAL JAL 39,000 38% 19,500 69% 23,550 63%
INR=K5 MR [FECHE) JAL JAL 38,000 39% 19,000 69% 22,850 63%
A% [FECHH) JAL JAL 38,000 39% 19,000 69% 22,850 63%
MNR=RIE IR E S-A€EL:)) JAL JAL 41,200 37% 20,600 68% 24,950 62%
RB% [HECHH) JAL JAL 41,200 37% 20,600 68% 24,950 62%
INR=FER M [FHECHH) JAL JAL 39,000 38% 19,500 69% 23,550 63%
REA% [HECHH) JAL JAL 39,000 38% 19,500 69% 23,550 63%
IMNEY="H I IR E S-ACEL:)) JAL JAL 39,000 38% 19,500 69% 23,550 63%
BEFE [ERCRA) JAL JAL 39,000 38% 19,500 69% 23,550 63%




MFRIRBESI EER(12A7A~12A208E%5)

JAL/JTA/JAC/RAC

st R EIS INRAR R RMEIS| SIREMNLERIRBEIE]
X B | BHHO A= E—75H E—75H E—75H

a0 | KE0 [ EEG) 12/7-12/20 251% g% |[12/7-12/20 251% g% |[12/7-12/20 251% -3
IMA=ERE AR [FRECHE) JAL JAL 41,200 37% 20,600 68% 24,950 62%
ERE FUR CHH) JAL JAL 41,200 37% 20,600 68% 24,950 62%
IMA=FTH RS [ (RER) JTA [JTA/RAC 57,700 6% 28,850 53% 35,500 42%
EhHE [FEGR JTA/RAC| JTA 57,700 6% 28,850 53% 35,500 42%
IMAY=F1E MAFE B (FRER) JTA JTA 61,500 8% 30,750 54% 37,950 43%
AEHE [HEGER JTA JTA 61,500 8% 30,750 54% 37,950 43%
==& EE €T JTA [JTA/RAC 46,000 16% 23,000 58% 27,500 50%
BEH% [EGH) JTA/RAC|  JTA 46,000 16% 23,000 58% 27,500 50%
[EITEE=E] G TETE) JTA JTA 50,600 16% 25,300 58% 31,000 49%
AEHE [HEGER JTA JTA 50,600 16% 25,300 58% 31,000 49%
EH==5 = 2 JAL/JAC| JAC 27,700 42% 13,850 71% 17,750 63%
EGES 12E JAC [JAL/JAC 27,700 42% 13,850 71% 17,750 63%
BEXE=5H | EEXEH | DkBEH JAC JAC 19,650 27% 9,850 63% 12,550 53%
FXa Sk BER JAC JAC 19,650 27% 9,850 63% 12,550 53%
BERE=HKRE| EEXEH Ea JAC JAC 16,800 43% 8,400 72% 12,650 57%
Sk BERSE B JAC JAC 16,800 43% 8,400 72% 12,650 57%
BN =F & R4 (BRER) H | 3R CHHE) JAL/JTA] JAL 49,500 34% 24,750 67% 29,750 60%
EHA%  [FECHHE) JAL _[JAL/JTA 49,500 34% 24,750 67% 29,750 60%
SRR (INER) ==IR 48 (BRER) % | 3R CHH) JAL/JTA] JAL 49,500 34% 24,750 67% 29,750 60%
ZR% [HECHH) JAL _[JAL/JTA 49,500 34% 24,750 67% 29,750 60%
SPHB(GINER) =FAE [h4E (BRER) F | 3R CHEH) JAL/JTA] JAL 48,000 31% 24,000 66% 28,800 59%
AR [FECHH) JAL _[JAL/JTA 48,000 31% 24,000 66% 28,800 59%
SPHB(INER) = LT [ih48 (ARER) 5| 3R CHE) JAL/JTA] JAL 48,000 24% 24,000 62% 28,800 55%
W% |[RRCRA) JAL _[JAL/JTA 48,000 24% 24,000 62% 28,800 55%
BT =Ile MEGRE |  ERE JTA JAL 47,300 37% 23,650 69% 28,950 62%
=3 128 JAL JTA 47,300 37% 23,650 69% 28,950 62%
SPAB(GIRER) =/ SR 48 (ARER) | 3R CHE) JAL/JTA] JAL 43,000 36% 21,500 68% 26,200 61%
AR [HE CHE) JAL _[JAL/JTA 43,000 36% 21,500 68% 26,200 61%
SRR =nM (TEGRX] & JTA [JAL/JAC 32,400 42% 16,200 71% 20,150 64%
=] & JAL/JAC| JTA 32,400 42% 16,200 71% 20,150 64%
ShEE(RER) =L [(MEGBRIX] & JTA JAC 29,200 44% 14,600 72% 17,850 66%
FALLFE 12 JAC JTA 29,200 44% 14,600 72% 17,850 66%
RRCAR) =EZAB|RR (P E| ERE JAL JAC 45,800 31% 22,900 66% 28,100 58%
KR (FFH JAL JAL 45,800 27% 22,900 64% 28,100 55%
EBEXER | ERS JAC JAL 45,800 31% 22,900 66% 28,100 58%
KR (FFH JAL JAL 45,800 27% 22,900 64% 28,100 55%
ER(CABE)=ERB[ZEm(FAE)%] ERSE JAL JAC 45,350 31% 22,700 65% 28,150 57%
BELE JAL JAC 45,350 22% 22,700 61% 28,100 51%
ERER ERE JAC JAL 45,350 31% 22,700 65% 28,150 57%
BEAE JAC JAL 45,350 22% 22,700 61% 28,100 51%
ER(CABR) =#zB[ZR(FHE) %] ERS JAL JAC 46,950 33% 23,500 66% 28,850 59%
BEAE JAL JAC 47,800 23% 23,900 61% 29,400 52%
[FAEES ERS JAC JAL 46,950 33% 23,500 66% 28,850 59%
BEAE JAC JAL 47,800 23% 23,900 61% 29,400 52%
HRHE) =k RH|ERCIA) | ERS JAL JAC 48,350 32% 24,200 66% 30,050 57%
HKBREHHE | BERE JAC JAL 48,350 32% 24,200 66% 30,050 57%
BEAE JAC JAL 48,350 26% 24,200 63% 30,050 54%
i BEKXE [ JAC JAC JAL | 48350 38% 24,200 69% 30,050 61%
RROPE)=5# AR (PR %] ERS JAL JAC 48,750 32% 24,400 66% 30,300 58%
5w ERS JAC JAL 48,750 32% 24,400 66% 30,300 58%
BEAE JAC JAL 48,700 28% 24,350 64% 30,250 56%
ShKBER | BEKAE [ JAC JAC JAL | 48700 35% 24,350 68% 30,250 60%
KR (D) =BEAB[ AR (B E| ERS JAC JAC 40,700 25% 20,350 63% 24,700 55%
BEAEHR | BERE JAC JAC 40,700 25% 20,350 63% 24,700 55%
KB (D =ERE| KR (FHFE| _ERS JAC JAC 40,600 24% 20,300 62% 25,000 53%
BEAE JAL JAC 40,600 15% 20,350 58% 24,950 48%
ERER BRE JAC JAC 40,600 24% 20,300 62% 25,000 53%
BEAE JAC JAL 40,600 15% 20,350 58% 24,950 48%
KR (B =EZ2B|XKR(FM %] ERS JAC JAC 42,100 27% 21,050 64% 25,700 56%
BEAE JAL JAC 42,900 17% 21,450 59% 26,250 49%
[FFAEES BRE JAC JAC 42,100 27% 21,050 64% 25,700 56%
BELE JAC JAL 42,900 17% 21,450 59% 26,250 49%
KR () =hk RE | KBR R H| ER JAC JAC 43,250 26% 21,650 63% 26,700 54%
hKBEHE | BERE JAC JAC 43,250 26% 21,650 63% 26,700 54%
KRB =5# [KR(BEFH%] ERS JAC JAC 43,650 27% 21,850 64% 26,950 55%
S5 = JAC JAC 43,650 27% 21,850 64% 26,950 55%
BE=EXXE B BERS JAC JAC 32,750 29% 16,400 64% 19,700 57%
BEAEHR | BERE JAC JAC 32,750 29% 16,400 64% 19,700 57%
ER=ER5 [EEES ERE JAC JAC 33,650 25% 16,850 63% 20,600 54%
BEAE JAC JAC 33,650 23% 16,850 62% 20,600 53%
ERER ERS JAC JAC 33,650 25% 16,850 63% 20,600 54%
BELE JAC JAC 33,650 23% 16,850 62% 20,600 53%
ER=z5 [EEES ERE JAC JAC 34,150 31% 17,100 66% 20,700 58%
BEAE JAC JAC 34,150 28% 17,100 64% 20,700 57%
[EFAEES ERE JAC JAC 34,150 31% 17,100 66% 20,700 58%
BEAE JAC JAC 34,150 28% 17,100 64% 20,700 57%
BE=4KBE B BERE JAC JAC 35,300 30% 17,650 65% 21,700 57%
HKBEHE | BERE JAC JAC 35,300 30% 17,650 65% 21,700 57%
EE=5#H FEmES ERE JAC JAC 35,700 31% 17,850 66% 21,950 58%
CErd ER JAC JAC 35,700 31% 17,850 66% 21,950 58%




rERlE#Es S EER(12H218~1A6ARES)

JAL/JTA/JAC/RAC

e R RMEIS| UNEE RS SRR WNE R RABEIB|
=35 Bhpd | BHHBE e E—55 E—0H E—#
=T =T —=a =1 12/21-1/6 i HE 12/21-1/6 H=E 12/21-1/6 fiid BE
REOD | KEQ | REQ EEIES EEES EEIES

HRCHE) =% [RECRE) F[9# G H) JAL/JTA[JTA/RAC 57,700 6% 28,850 53% 35,500 42%
BaE 9 GR) JTA/RAC[JAL/JTA 57,700 6% 28,850 53% 35,500 42%
RRCPA)=FRE [RRCHA) [ $4E @8 JAL/JTA[ JTA 61,500 8% 30,750 54% 37,950 43%
AiEH & GER) JTA  [JAL/JTA 61,500 8% 30,750 54% 37,950 43%
KR () =23 R | KR (1) [ R= CRE) JAL JAL 50,600 25% 25,300 63% 27,850 59%
AR FTF ) JAL JAL 50,600 24% 25,300 62% 27,850 58%
LAl |[RECHE) JAL JAL 50,600 25% 25,300 63% 27,850 59%
AR FF ) JAL JAL 50,600 24% 25,300 62% 27,850 58%
PG EEESF PN EEVACE) JAL JAL 50,600 25% 25,300 63% 27,850 59%
AR FTF ) JAL JAL 50,600 24% 25,300 62% 27,850 58%
LAl [RECHE) JAL JAL 50,600 25% 25,300 63% 27,850 59%
LIE (37 F#%) JAL JAL 50,600 24% 25,300 62% 27,850 58%
KR (RFD =181l | KPR () | R CREA) JAL JAL 47,900 28% 23,950 64% 26,200 60%
JBJIZE = CRH) JAL JAL 47,900 28% 23,950 64% 26,200 60%
KB (B8TE) =8 )1l [ KB (B8FE) %[ HR CHA) JAL JAL 47,900 28% 23,950 64% 26,200 60%
JBIIZE = CRHE) JAL JAL 47,900 28% 23,950 64% 26,200 60%
KB (RFH =888 | XBR () [R5 H) JAL JAL 48,400 26% 24,200 63% 26,500 60%
S = CRHE) JAL JAL 48,400 26% 24,200 63% 26,500 60%
KB (BEEE) =HIE% | ABR (BFE) 5| R 5 H) JAL JAL 48,400 26% 24,200 63% 26,500 60%
FEES = CRHE) JAL JAL 48,400 26% 24,200 63% 26,500 60%
KB (RFH =FI5 | XBR () [R5 H) JAL JAL 47,900 26% 23,950 63% 26,200 60%
HILFE = CRHE) JAL JAL 47,900 26% 23,950 63% 26,200 60%
KR (B#E) =I5 | ABR (B9F8) %[ 33 (FIH) JAL JAL 47,900 26% 23,950 63% 26,200 60%
HILFE = CRHE) JAL JAL 47,900 26% 23,950 63% 26,200 60%
KB (RFH =BfE | KRR () [R5 H) JAL JAL 48,000 18% 24,000 59% 26,450 55%
L = CRHE) JAL JAL 48,000 18% 24,000 59% 26,450 55%
KB (FFH ==iR [ KBk (D) [H=R CHR) JAL JAL 40,000 29% 20,000 64% 24,200 57%
=] = CRHE) JAL JAL 40,000 29% 20,000 64% 24,200 57%
KR (B#E) ==iR | XBR (BF8) %[5 H) JAL JAL 40,000 29% 20,000 64% 24,200 57%
=R%E = CRHE) JAL JAL 40,000 29% 20,000 64% 24,200 57%
KB (RFD =Rk [XR(BDE| HE JAC JAC 20,500 37% 10,250 69% 13,100 60%
[EGE HE JAC JAC 20,500 37% 10,250 69% 13,100 60%
KRB =RBFE[AREDH| BEES JAC JAC 32,600 22% 16,300 61% 20,850 50%
BEYER | BES JAC JAC 32,600 22% 16,300 61% 20,850 50%
KR (RFH =&Ed [ XR (B F[ 94 GR8) JAL _[JTA/RAC 50,000 9% 25,000 55% 27,500 50%
BaE [MEGR) JTA/RAC]  JAL 50,000 9% 25,000 55% 27,500 50%
KB (BEE) =&d | XBR (B9F8) 5|04 (GR8) JAL/JTA[JTA/RAC 50,000 9% 25,000 55% 27,500 50%
BaE [M#EGR) JTA/RAC[JAL/JTA 50,000 9% 25,000 55% 27,500 50%
KB (RFH =F1E [ XBR (B F[ 94 GR8) JAL JTA 50,600 16% 25,300 58% 31,000 49%
AiEH [HEGR) JTA JAL 50,600 16% 25,300 58% 31,000 49%
KB (BH#E) =H1E | KRR (B9F8) %[04 (GR) JAL/JTA[ JTA 50,600 16% 25,300 58% 31,000 49%
AiEH [HEGER) JTA  [JAL/JTA 50,600 16% 25,300 58% 31,000 49%
ZHE (FE) = %5 | REE (P E) 5[ 4Lk FFx) JAL JAL 46,200 27% 23,100 63% 25,450 60%
ZmAIFE  [HRETFR) JAL JAL 46,200 27% 23,100 63% 25,450 60%
Z2HE(PE) =2F | &aE [R5 JTA [JTA/RAC 51,000 14% 25,500 57% 28,150 53%
BEaF [MHEGR) JTA/RAC] JTA 51,000 14% 25,500 57% 28,150 53%
Z2HE (P =FiE[£5R ) [l BH) JTA JTA 55,200 15% 27,600 57% 28,950 55%
AiEH [RGB JTA JTA 55,200 15% 27,600 57% 28,950 55%
AL BT ) = /M2 [ 4L0R B F5%) % | = CRIE) JAL JAL 39,000 35% 19,500 67% 21,450 64%
A = (HE JAL JAL 39,000 35% 19,500 67% 21,450 64%
IR FTFR) =R AR FTR %[ H5 B JAL JAL 41,000 40% 20,500 70% 22,400 67%
] LY 56 = (HE JAL JAL 41,000 40% 20,500 70% 22,400 67%
ALIR G F %) =58 [fLIR T i) % | R 5 B JAL JAL 42,000 39% 21,000 69% 23,050 66%
LEEF = (HE JAL JAL 42,000 39% 21,000 69% 23,050 66%
AIRFTFH) = LUOFH[ AR FHFR) 5| Hm HE JAL JAL 49,000 32% 24,500 66% 26,900 63%
WAFERFE |BR CHE JAL JAL 49,000 32% 24,500 66% 26,900 63%
ALIR G F %) = HE LR F &) %R 5 B JAL JAL 44,000 36% 22,000 68% 23,950 65%
HEX = (HE JAL JAL 44,000 36% 22,000 68% 23,950 65%
ALIR G F %) =8 LR T ) % | R 5 B JAL JAL 45,000 33% 22,500 67% 24,950 63%
EE% = (HE JAL JAL 45,000 33% 22,500 67% 24,950 63%
FIRFTFR) =B [ARFETR % H5 B JAL JAL 46,000 32% 23,000 66% 25,550 62%
BT = (HE JAL JAL 46,000 32% 23,000 66% 25,550 62%
MIRFTFR) =B [ ALREFETR %|H5 B JAL JAL 48,000 31% 24,000 65% 26,500 62%
B = (HE JAL JAL 48,000 31% 24,000 65% 26,500 62%
IR FTFR) =L [ AR TR %[ H5 B JAL JAL 51,000 27% 25,500 63% 27,950 60%
L = (HE JAL JAL 51,000 27% 25,500 63% 27,950 60%
ALIR B F %) =J AN [AL0E (i F %) % | R CRIE JAL JAL 49,000 34% 24,500 67% 26,900 64%
EZRLES = (HE JAL JAL 49,000 34% 24,500 67% 26,900 64%
ALIR T F %) = K5 [fLR G F ) % [R5 B JAL JAL 49,000 33% 24,500 67% 26,900 63%
K55 = (HE JAL JAL 49,000 33% 24,500 67% 26,900 63%
ALIR G F %) = R [fLIR G T %) % | 5 B JAL JAL 51,000 34% 25,500 67% 28,150 63%
RIGF = (HE JAL JAL 51,000 34% 25,500 67% 28,150 63%
AL G F %) = REA AL F %) % | 5 B JAL JAL 50,000 33% 25,000 66% 27,500 63%
REA 5 = (HE JAL JAL 50,000 33% 25,000 66% 27,500 63%
AL BT F %) = B0 [fLIR G T %) % | 5 B JAL JAL 51,000 32% 25,500 66% 28,150 62%
B 5 = (HE JAL JAL 51,000 32% 25,500 66% 28,150 62%
IR EFF %) =R B[R FF ) % | Rm CRE JAL JAL 57,000 26% 28,500 63% 31,350 59%
BRER = (HE JAL JAL 57,000 26% 28,500 63% 31,350 59%
AR FTF A =0 (3BT [ ALIR (B F%) % [ R R CHE JAL _[JAL/JTA] 59,000 25% 29,500 62% 32,750 58%
JAL _[JAL/JTA] 59,000 26% 29,500 63% 32,750 59%
B (PED) JAL JTA 59,000 27% 29,500 63% 32,750 59%
12 JAL JTA 59,000 29% 29,500 64% 32,750 60%
EEAE FAEIEACC:D)] JAL/JTA[  JAL 59,000 25% 29,500 62% 32,750 58%
K (BEFE) JAL/JTA[  JAL 59,000 26% 29,500 63% 32,750 59%
B (PED) JTA JAL 59,000 27% 29,500 63% 32,750 59%
el JTA JAL 59,000 29% 29,500 64% 32,750 60%
& =2 Bl [EEEEVACTE) JAL JAL 60,000 27% 30,000 64% 33,350 59%
AR FTF ) JAL JAL 60,000 22% 30,000 61% 33,350 57%
LAl |[RECHE) JAL JAL 60,000 27% 30,000 64% 33,350 59%
JAL JAL 60,000 22% 30,000 61% 33,350 57%
t2RE =1l [ERES JAL JAL 60,000 25% 30,000 63% 33,350 59%
JENIES JAL JAL 60,000 25% 30,000 63% 33,350 59%
12 =g [oRES JAL JAL 60,000 25% 30,000 63% 33,350 58%
P JAL JAL 60,000 25% 30,000 63% 33,350 58%
B =%5 [ERES JAL JAL 60,000 24% 30,000 62% 33,350 58%
wILFE JAL JAL 60,000 24% 30,000 62% 33,350 58%
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JAL/JTA/JAC/RAC

P R RMEIS| UNEE RS SRR NE R R RMBEIE|
X Bhpd | BHHBO A= - R T—
=T =T =a =1 12/21-1/6 = 7_%5 HE 12/21-1/6 E—5%) H=E 12/21-1/6 = 7_%5 HE
REOD | KEQ | RFEQ EEIES EEES EEIES

12 =R [EEES JAL JAL 59,000 19% 29,500 50% 32,700 55%
HER JAL JAL 59,000 19% 29,500 59% 32,700 55%
EE=F& FHEES JAL JAL 50,000 30% 25,000 65% 28,100 61%
JAL JAL 50,000 21% 25,000 60% 28,100 55%
B33 JAL JAL 50,000 30% 25,000 65% 28,100 61%
JAL JAL 50,000 21% 25,000 60% 28,100 55%
& ==R [EEES JAL JAL 49,500 30% 24,750 65% 27,800 61%
=R% JAL JAL 49,500 30% 24,750 65% 27,800 61%
B =15 [ERES JAL JAL 48,500 21% 24,250 61% 27,150 56%
EER JAL JAL 48,500 21% 24,250 61% 27,150 56%
& = HE FEEES JAL JAL 49,000 25% 24,500 63% 27,050 59%

JAL JAL 49,000 17% |12/21-258% %L | 24,500 59% |12/21-253% %L | 27,050 54% 12/21-258E 4L
MER JAL JAL 49,000 25% 24,500 63% 27,050 59%
JAL JAL 49,000 17% 24,500 59% 27,050 54%
& =1L EEEES JAL JAL 45,000 24% 22,500 62% 24,950 58%
JAL JAL 45,000 23% 22,500 61% 24,950 57%
%3 JAL JAL 45,000 24% 22,500 62% 24,950 58%
JAL JAL 45,000 23% 22,500 61% 24,950 57%
BE=%R [EEES JAL JAL 43,300 22% 21,650 61% 23,700 57%
wRHE JAL JAL 43,300 22% 21,650 61% 23,700 57%
R =/ 13 5 JAL JAL 43,000 32% 21,500 66% 23,550 63%
R JAL JAL 43,000 32% 21,500 66% 23,550 63%
BE==d [ERES JTA [JTA/RAC 44,000 9% 22,000 54% 24,300 50%
BaH JTA/RAC|JTA 44,000 9% 22,000 54% 24,300 50%
B =HiE ErEFE 8 JTA JTA 47,100 12% 23,550 56% 24,750 54%
AiEH & GER) JTA JTA 47,100 12% 23,550 56% 24,750 54%
Bl =Il& % | IRETR) JAL JAL 36,000 33% 18,000 67% 19,500 64%
WEH [HEREFETR JAL JAL 36,000 33% 18,000 67% 19,500 64%
iR =R TR [HREFTR JAL JAL 37,000 33% 18,500 66% 20,500 63%
R JAL JAL 37,000 33% 18,500 66% 20,500 63%
iR =M ESVIES JAL JAL 48,000 29% 24,000 64% 26,350 61%
INRFE JAL JAL 48,000 29% 24,000 64% 26,350 61%
2 Bl = el L B JAL JAL 52,000 31% 26,000 66% 28,800 62%
] LI 56 JAL JAL 52,000 31% 26,000 66% 28,800 62%
Zimp=HE i Al 5 JAL JAL 49,700 35% 24,850 68% 27,850 64%
EZ3 JAL JAL 49,700 35% 24,850 68% 27,850 64%
iR =l ES D JAL JAL 57,200 26% 28,600 63% 31,700 59%
ML JAL JAL 57,200 26% 28,600 63% 31,700 59%
TBII= /I JENIES JAL JAL 48,000 27% 24,000 63% 25,350 61%
INAFE JAL JAL 48,000 27% 24,000 63% 25,350 61%
B =Tl JBIIZE JAL JAL 52,000 30% 26,000 65% 28,800 61%
e LI 56 JAL JAL 52,000 30% 26,000 65% 28,800 61%
BI=HE JENES JAL JAL 49,700 34% 24,850 67% 27,200 64%
EZ3 JAL JAL 49,700 34% 24,850 67% 27,200 64%
JBJI=#A0 JENIES JAL JAL 57,200 24% 28,600 62% 31,700 58%
L JAL JAL 57,200 24% 28,600 62% 31,700 58%
ST =/ P JAL JAL 45,000 31% 22,500 65% 24,950 62%
NN JAL JAL 45,000 31% 22,500 65% 24,950 62%
IBR =FElL P JAL JAL 52,000 29% 26,000 65% 28,800 61%
e LI 56 JAL JAL 52,000 29% 26,000 65% 28,800 61%
SR =HE P JAL JAL 49,700 33% 24,850 67% 27,850 63%
EZ3 JAL JAL 49,700 33% 24,850 67% 27,850 63%
g =10 P JAL JAL 57,200 24% 28,600 62% 31,700 58%
ML JAL JAL 57,200 24% 28,600 62% 31,700 58%
IR =/ HLE JAL JAL 48,000 26% 24,000 63% 25,350 61%
NN JAL JAL 48,000 26% 24,000 63% 25,350 61%
HIL=FEW HLF JAL JAL 52,000 29% 26,000 64% 28,800 60%
FeE] LI 56 JAL JAL 52,000 29% 26,000 64% 28,800 60%
HL=HE HLFE JAL JAL 49,000 34% 24,500 67% 27,200 63%
HEX JAL JAL 49,000 34% 24,500 67% 27,200 63%
HIL=H0 B JAL JAL 57,200 23% 28,600 62% 31,700 58%
ML JAL JAL 57,200 23% 28,600 62% 31,700 58%
AR =/ ERAR S JAL JAL 40,000 31% 20,000 65% 21,800 62%
R JAL JAL 40,000 31% 20,000 65% 21,800 62%
EEE =L BHEER JAL JAL 51,000 23% 25,500 61% 28,150 57%
i LI 5 JAL JAL 51,000 23% 25,500 61% 28,150 57%
HE=HE BHEER JAL JAL 48,700 28% 24,350 64% 27,200 60%
EZ3 JAL JAL 48,700 28% 24,350 64% 27,200 60%
BfE=#0 ERARFE JAL JAL 56,100 17% 28,050 59% 31,000 54%
[T JAL JAL 56,100 17% 28,050 59% 31,000 54%
e L JAL JAL 59,000 19% 29,500 59% 32,700 55%
EIZES JAL JAL 59,000 19% 29,500 59% 32,700 55%
BIE=K% ERAEFE JAL JAL 47,000 34% 23,500 67% 25,900 64%
K5 JAL JAL 47,000 34% 23,500 67% 25,900 64%
WEE=RIG ERARF JAL JAL 49,000 34% 24,500 67% 26,900 64%
EIE% JAL JAL 49,000 34% 24,500 67% 26,900 64%
HEE=REA ERAEFE JAL JAL 49,000 32% 24,500 66% 26,900 63%
REAH JAL JAL 49,000 32% 24,500 66% 26,900 63%
HE=25 ERAR S JAL JAL 49,000 32% 24,500 66% 26,900 63%
EIEF JAL JAL 49,000 32% 24,500 66% 26,900 63%
HEE=ERS L JAL JAL 50,000 33% 25,000 67% 27,500 63%
ERER JAL JAL 50,000 33% 25,000 67% 27,500 63%
FH=/ B JAL JAL 37,000 34% 18,500 67% 20,500 64%
R JAL JAL 37,000 34% 18,500 67% 20,500 64%
FH=RL BEHRFE JAL JAL 42,000 35% 21,000 67% 23,050 64%
e LI 56 JAL JAL 42,000 35% 21,000 67% 23,050 64%
EH=L5 B JAL JAL 43,000 34% 21,500 67% 23,700 64%
L% JAL JAL 43,000 34% 21,500 67% 23,700 64%
FEHR=LOFH B JAL JAL 45,000 35% 22,500 67% 24,950 64%
=EE JAL JAL 45,000 35% 22,500 67% 24,950 64%
EH=—HE H ) JAL JAL 42,700 35% 21,350 68% 23,550 64%
) JAL JAC 42,700 28% 21,350 64% 23,550 60%
HE ) JAL JAL 42,700 35% 21,350 68% 23,550 64%
) JAC JAL 42,700 28% 21,350 64% 23,550 60%
EHR=E BHRFE ) JAL JAL 40,000 38% 20,000 69% 21,750 66%
CEE NV ACTE)) JAL JAL 40,000 38% 20,000 69% 21,750 66%




rERlE#Es S EER(12H218~1A6ARES)

JAL/JTA/JAC/RAC

P R RMEIS| UNEE RS SRR NE R R RMBEIE|
X Bhpd | BHHBO A= - R T—
=T =T =a =1 12/21-1/6 = 7_%5 HE 12/21-1/6 E—5%) H=E 12/21-1/6 = 7_%5 HE
REOD | KEQ | RFEQ EEIES EEES EEIES "
EHR=mH B = (F JAL JAL 42,000 34% 21,000 67% 23,050 64%
B F € JAL JAL 42,000 34% 21,000 67% 23,050 64%
EHR=mH BEHRF ~ (F JAL JAL 43,000 35% 21,500 67% 23,700 64%
SHFE € JAL JAL 43,000 35% 21,500 67% 23,700 64%
FHR=RL BEHRFE € JAL JAL 43,000 35% 21,500 68% 23,700 64%
L EE: JAL JAL 43,000 35% 21,500 68% 23,700 64%
FHE=1LAM BEHRFE R (T JAL JAL 50,000 30% 25,000 65% 28,100 61%
EZRLES = JAL JAL 50,000 30% 25,000 65% 28,100 61%
EH=KH EHh%E |RRCHE JAL JAL 45,000 36% 22,500 68% 24,950 64%
PNTACGES)) JAL JAL 45,000 25% 22,500 63% 24,950 59%
KAF [ER(CHH) JAL JAL 45,000 36% 22,500 68% 24,950 64%
KB () JAL JAL 45,000 25% 22,500 63% 24,950 59%
EHR=RB P ESACTE) JAL JAL 49,000 33% 24,500 67% 26,900 63%
KB () JAL JAL 49,000 27% 24,500 63% 26,900 60%
[SCE N EVACT:) JAL JAL 49,000 33% 24,500 67% 26,900 63%
KB (1) JAL JAL 49,000 27% 24,500 63% 26,900 60%
EHR=EX P ESACTE) JAL JAL 47,000 34% 23,500 67% 25,900 64%
KB () JAL JAL 47,000 27% 23,500 64% 25,900 60%
[ EVACT:) JAL JAL 47,000 34% 23,500 67% 25,900 64%
KB (1) JAL JAL 47,000 27% 23,500 64% 25,900 60%
EHR=25 P ESACTE) JAL JAL 47,000 34% 23,500 67% 25,900 64%
KB () JAL JAL 47,000 27% 23,500 64% 25,900 60%
BN ESICT:D) JAL JAL 47,000 34% 23,500 67% 25,900 64%
KB (1) JAL JAL 47,000 27% 23,500 64% 25,900 60%
EHR=-ERE P ESACTE) JAL JAL 49,000 33% 24,500 67% 26,900 63%
) JAL JAC 49,000 28% 24,500 64% 26,900 60%
ERER ) JAL JAL 49,000 33% 24,500 67% 26,900 63%
) JAC JAL 49,000 28% 24,500 64% 26,900 60%
ZIR=/ ZiR% ) JAL JAL 37,000 34% 18,500 67% 20,500 63%
INAFE JAL JAL 37,000 34% 18,500 67% 20,500 63%
ZR=[RL ZiR% JAL JAL 42,000 34% 21,000 67% 23,050 64%
e LI 56 JAL JAL 42,000 34% 21,000 67% 23,050 64%
=R=L& =R JAL JAL 43,000 34% 21,500 67% 23,700 63%
LES% JAL JAL 43,000 34% 21,500 67% 23,700 63%
SER=WL0OFH =R JAL JAL 45,000 34% 22,500 67% 24,950 64%
I=EE JAL JAL 45,000 34% 22,500 67% 24,950 64%
ZR=HE RE JAL JAL 43,900 33% 21,950 66% 24,250 63%
3 JAL JAL 43,900 33% 21,950 66% 24,250 63%
ZR=fE8 3 JAL JAL 40,000 37% 20,000 68% 21,750 66%
EER JAL JAL 40,000 37% 20,000 68% 21,750 66%
ZIR=%\ ZiR% JAL JAL 42,000 34% 21,000 67% 23,050 64%
SFE JAL JAL 42,000 34% 21,000 67% 23,050 64%
ZR=B4H ZiR% JAL JAL 42,000 36% 21,000 68% 23,050 65%
SHFE JAL JAL 42,000 36% 21,000 68% 23,050 65%
ZR=# =R JAL JAL 43,000 35% 21,500 67% 23,700 64%
3 JAL JAL 43,000 35% 21,500 67% 23,700 64%
ZIR=4tAM 3 JAL JAL 49,500 30% 24,750 65% 27,800 61%
* JAL JAL 49,500 30% 24,750 65% 27,800 61%
ZR=X% 3 JAL JAL 45,000 35% 22,500 68% 24,950 64%
3 JAL JAL 45,000 35% 22,500 68% 24,950 64%
=R=RI& 3 JAL JAL 49,000 33% 24,500 66% 26,900 63%
3 JAL JAL 49,000 33% 24,500 66% 26,900 63%
=R=8EX 3 JAL JAL 47,000 33% 23,500 67% 25,900 63%
EARF JAL JAL 47,000 33% 23,500 67% 25,900 63%
=R=21% =R JAL JAL 47,000 33% 23,500 67% 25,900 63%
EIEF JAL JAL 47,000 33% 23,500 67% 25,900 63%
=R=ERE =R JAL JAL 49,000 33% 24,500 66% 26,900 63%
EREH JAL JAL 49,000 33% 24,500 66% 26,900 63%
ME=/R TREH JAL JAL 36,000 29% 18,000 65% 19,800 61%
INAFE JAL JAL 36,000 29% 18,000 65% 19,800 61%
FHE=FEWL TREF JAL JAL 37,000 37% 18,500 69% 20,500 65%
e LI 56 JAL JAL 37,000 37% 18,500 69% 20,500 65%
HHE=L5 FUEF JAL JAL 40,000 33% 20,000 67% 21,750 64%
L% JAL JAL 40,000 33% 20,000 67% 21,750 64%
HE=1LOFER FREFE JAL JAL 43,000 32% 21,500 66% 23,700 63%
=EE JAL JAL 43,000 32% 21,500 66% 23,700 63%
ME=HE FUEFE ) JAL JAL 37,000 39% 18,500 69% 20,500 66%
) JAL JAC 37,000 33% 18,500 67% 20,500 63%
HE FR CRHE) JAL JAL 37,000 39% 18,500 69% 20,500 66%
PNTACGES)) JAC JAL 37,000 33% 18,500 67% 20,500 63%
ME=8 ) JAL JAL 37,000 37% 18,500 68% 20,500 65%
JAL JAL 37,000 37% 18,500 68% 20,500 65%
ME=2K JAL JAL 40,000 32% 20,000 66% 21,750 63%
JAL JAL 40,000 32% 20,000 66% 21,750 63%
ME=5 JAL JAL 40,000 34% 20,000 67% 21,750 64%
JAL JAL 40,000 34% 20,000 67% 21,750 64%
FE=10 JAL JAL 42,000 31% 21,000 66% 23,050 62%
JAL JAL 42,000 31% 21,000 66% 23,050 62%
FE =4t AM JAL JAL 49,000 25% 24,500 63% 27,050 59%
JAL JAL 49,000 25% 24,500 63% 27,050 59%
ME=X5 ) JAL JAL 43,000 33% 21,500 67% 23,700 63%
) JAL JAL 43,000 24% 21,500 62% 23,700 58%
) JAL JAL 43,000 33% 21,500 67% 23,700 63%
) JAL JAL 43,000 24% 21,500 62% 23,700 58%
ME=R ) JAL JAL 45,000 34% 22,500 67% 24,950 63%
) JAL JAL 45,000 29% 22,500 64% 24,950 60%
) JAL JAL 45,000 34% 22,500 67% 24,950 63%
) JAL JAL 45,000 29% 22,500 64% 24,950 60%
ME=FEX ) JAL JAL 45,000 32% 22,500 66% 24,950 62%
) JAL JAL 45,000 26% 22,500 63% 24,950 59%
) JAL JAL 45,000 32% 22,500 66% 24,950 62%
) JAL JAL 45,000 26% 22,500 63% 24,950 59%
ME=25 ) JAL JAL 45,000 32% 22,500 66% 24,950 62%
) JAL JAL 45,000 26% 22,500 63% 24,950 59%
) JAL JAL 45,000 32% 22,500 66% 24,950 62%
KB (D) JAL JAL 45,000 26% 22,500 63% 24,950 59%
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X Bhpd | BHHBO A= E—78 E—758 =78
=T =T =a =1 12/21-1/6 i HE 12/21-1/6 H=E 12/21-1/6 fiid BE
REOD | KEQ | RFEQ EEIES EEES EEIES
ME=ERS MEFE [EECHH JAL JAL 47,000 31% 23,500 65% 25,900 62%
KR (FF JAL JAC 47,000 27% 23,500 63% 25,900 60%
BRER [RR(HHE JAL JAL 47,000 31% 23,500 65% 25,900 62%
PNTACGES: JAC JAL 47,000 27% 23,500 63% 25,900 60%
Wi =/ 3 EE: JAL JAL 35,000 21% 17,500 61% 18,950 57%
INAFE € JAL JAL 35,000 21% 17,500 61% 18,950 57%
L% =T Ll I3 = (% JAL JAL 37,000 30% 18,500 65% 20,500 61%
e LY 5 (F JAL JAL 37,000 30% 18,500 65% 20,500 61%
Wk=IE8 3 € JAL JAL 38,000 29% 19,000 64% 21,100 60%
LEF JAL JAL 38,000 29% 19,000 64% 21,100 60%
WL =1LOFER 3 JAL JAL 43,000 25% 21,500 62% 23,700 58%
JAL JAL 43,000 25% 21,500 62% 23,700 58%
I =HZE JAL JAL 38,000 30% 19,000 65% 21,100 61%
JAL JAC 38,000 30% 19,000 65% 21,100 61%
JAL JAL 38,000 30% 19,000 65% 21,100 61%
JAC JAL 38,000 30% 19,000 65% 21,100 61%
I =1E8 JAL JAL 37,000 29% 18,500 64% 20,500 61%
JAL JAL 37,000 29% 18,500 64% 20,500 61%
I =5 JAL JAL 37,000 29% 18,500 64% 20,500 61%
JAL JAL 37,000 29% 18,500 64% 20,500 61%
I =%% JAL JAL 38,000 30% 19,000 65% 21,100 61%
JAL JAL 38,000 30% 19,000 65% 21,100 61%
WL =210 JAL JAL 38,000 30% 19,000 65% 21,100 61%
JAL JAL 38,000 30% 19,000 65% 21,100 61%
Wiz =L A JAL JAL 45,000 24% 22,500 62% 24,950 58%
=K% 2 CHE JAL JAL 44,000 24% 22,000 62% 24,300 58%
KB () JAL JAL 44,000 21% 22,000 60% 24,300 56%
KAF [ER(HH) JAL JAL 44,000 24% 22,000 62% 24,300 58%
KB () JAL JAL 44,000 21% 22,000 60% 24,300 56%
Wi =R W% [RECHBA) JAL JAL 47,000 24% 23,500 62% 26,250 57%
KB () JAL JAL 47,000 24% 23,500 62% 26,250 58%
[SCE N EVACT:) JAL JAL 47,000 24% 23,500 62% 26,250 57%
KB () JAL JAL 47,000 24% 23,500 62% 26,250 58%
Wi =REA W% [RECHEA) JAL JAL 45,000 24% 22,500 62% 24,950 58%
KB () JAL JAL 45,000 25% 22,500 62% 24,950 58%
RBAF [ER(HH) JAL JAL 45,000 24% 22,500 62% 24,950 58%
KB () JAL JAL 45,000 25% 22,500 62% 24,950 58%
k=2 W% [RECHEA) JAL JAL 45,000 24% 22,500 62% 24,950 58%
KB () JAL JAL 45,000 25% 22,500 62% 24,950 58%
BN ESICT:D) JAL JAL 45,000 24% 22,500 62% 24,950 58%
KB () JAL JAL 45,000 25% 22,500 62% 24,950 58%
WR=ERE W% [RECHEA) JAL JAL 47,000 24% 23,500 62% 26,250 57%
KB () JAL JAC 47,000 26% 23,500 63% 26,250 58%
BRBER |[RZE(CRA) JAL JAL 47,000 24% 23,500 62% 26,250 57%
KB () JAC JAL 47,000 26% 23,500 63% 26,250 58%
e =HE mEs [ KRR JAL JAC 37,000 31% 18,500 65% 20,500 62%
HEE [ XBREFEFD JAC JAL 37,000 31% 18,500 65% 20,500 62%
e =X% mEs [ XREE” JAL JAL 42,000 23% 21,000 61% 23,050 58%
AaF [ KREFF JAL JAL 42,000 23% 21,000 61% 23,050 58%
e =RIE Wwex [ KRR JAL JAL 45,000 26% 22,500 63% 24,950 59%
RiE% | XRUEFD JAL JAL 45,000 26% 22,500 63% 24,950 59%
e =REX = A PN G E)) JAL JAL 43,000 27% 21,500 63% 23,700 60%
BAE [ KER(EFM JAL JAL 43,000 27% 21,500 63% 23,700 60%
lE =25 Wwex [ KRR JAL JAL 45,000 23% 22,500 62% 24,950 57%
=% [ KR (FD JAL JAL 45,000 23% 22,500 62% 24,950 57%
MeE=ERS e [ KRR JAL JAC 45,000 27% 22,500 64% 24,950 60%
% [ KR (EF) JAC JAL 45,000 27% 22,500 64% 24,950 60%
FR=HE £ [ KBR(FFD JAL JAC 34,000 34% 17,000 67% 18,550 64%
£ |[KBR(BFD JAC JAL 34,000 34% 17,000 67% 18,550 64%
FR=K% £ [ KBR(FFD JAL JAL 40,000 24% 20,000 62% 21,750 59%
£ |[KBR(BFD JAL JAL 40,000 24% 20,000 62% 21,750 59%
FR=RIE £ [ KBR(FFD JAL JAL 43,000 27% 21,500 64% 23,700 60%
£ |[KBR(BFD JAL JAL 43,000 27% 21,500 64% 23,700 60%
FR=FEX £ [ KBR(FFD JAL JAL 42,000 26% 21,000 63% 23,050 59%
£ |[KBR(BFD JAL JAL 42,000 26% 21,000 63% 23,050 59%
FR=25 £ [ KBR(FFD JAL JAL 42,000 26% 21,000 63% 23,050 59%
£ |[KBR(BFD JAL JAL 42,000 26% 21,000 63% 23,050 59%
FR=ERE £ [ KBR(FFD JAL JAC 43,000 29% 21,500 64% 23,700 61%
¥ | KR(FH JAC JAL 43,000 29% 21,500 64% 23,700 61%
M =FE 3 3 JAL JAL 35,000 38% 17,500 69% 19,350 66%
3 JAL JAL 35,000 38% 17,500 69% 19,350 66%
IMNA=IEE 3 JAL JAL 36,000 37% 18,000 68% 19,800 65%
3 JAL JAL 36,000 37% 18,000 68% 19,800 65%
IR =1L OFER 3 JAL JAL 40,000 34% 20,000 67% 22,200 63%
WA ERSE JAL JAL 40,000 34% 20,000 67% 22,200 63%
INA=HE R JAL JAL 37,000 36% 18,500 68% 20,150 65%
HEX JAL JAL 37,000 36% 18,500 68% 20,150 65%
INA=TE5 IR FE JAL JAL 34,000 39% 17,000 70% 18,900 66%
EEFH JAL JAL 34,000 39% 17,000 70% 18,900 66%
IMNE=EH INRFE JAL JAL 35,000 37% 17,500 69% 18,950 66%
B F JAL JAL 35,000 37% 17,500 69% 18,950 66%
IMA=EH INMAF JAL JAL 37,000 36% 18,500 68% 20,150 65%
EHFE JAL JAL 37,000 36% 18,500 68% 20,150 65%
INR=FAL R JAL JAL 37,000 36% 18,500 68% 20,500 65%
L JAL JAL 37,000 36% 18,500 68% 20,500 65%
INR=E RN INAFE JAL JAL 43,000 32% 21,500 66% 23,550 63%
EZRLE JAL JAL 43,000 32% 21,500 66% 23,550 63%
INR=K5Y IR FE JAL JAL 42,000 32% 21,000 66% 22,850 63%
K5 JAL JAL 42,000 32% 21,000 66% 22,850 63%
IMNE=RIG INMAFE JAL JAL 45,000 31% 22,500 65% 24,950 62%
G JAL JAL 45,000 31% 22,500 65% 24,950 62%
IMNB=REX AT JAL JAL 43,000 32% 21,500 66% 23,550 63%
BEAZ JAL JAL 43,000 32% 21,500 66% 23,550 63%
IMNA=F I MRS JAL JAL 43,000 32% 21,500 66% 23,550 63%
EHGES JAL JAL 43,000 32% 21,500 66% 23,550 63%
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st R RMEIS| UNEE RS SRR NE R R RMBEIE|
B Bei® | #h60 === 12/21-1/6 E—9 = 12/21-1/6 E—oH Bz 12/21-1/6 E—9 =
REOD | KEQ | RFEQ EEIES " EEES " EEIES "
IMA=ERES R CHE) JAL JAL 45,000 31% 22,500 65% 24,950 62%
EAC]E:)) JAL JAL 45,000 31% 22,500 65% 24,950 62%
IMEA=EH hE (AR JTA [JTA/RAC 57,700 6% 28,850 53% 35,500 42%
P8 (AR ER) JTA/RAC| JTA 57,700 6% 28,850 53% 35,500 42%
IMA=F1E P (ARER) JTA JTA 61,500 8% 30,750 54% 37,950 43%
8 (AR ER) JTA JTA 61,500 8% 30,750 54% 37,950 43%
=2 P48 (IBER) JTA [JTA/RAC 50,000 9% 25,000 55% 27,500 50%
8 (AR ER) JTA/RAC| JTA 50,000 9% 25,000 55% 27,500 50%
=51 48 GRER) JTA JTA 52,000 14% 26,000 57% 31,000 49%
8 (R ER) JTA JTA 52,000 14% 26,000 57% 31,000 49%
BH=25 &2 JAL/JAC] JAC 27,700 42% 13,850 71% 17,750 63%
12k JAC _[JAL/JAC 27,700 42% 13,850 71% 17,750 63%
BEXE=5RHK Sk B ED JAC JAC 19,650 27% 9,850 63% 12,550 53%
Xk B ED JAC JAC 19,650 27% 9,850 63% 12,550 53%
BEXB=/1KRAD 5% JAC JAC 16,800 43% 8,400 72% 12,650 57%
B JAC JAC 16,800 43% 8,400 72% 12,650 57%
PEE(BE;) =F & = CHE JAL/JTA[  JAL 54,000 28% 27,000 64% 29,750 60%
R (T JAL _[JAL/JTA] 54,000 28% 27,000 64% 29,750 60%
(BB ==R (3 JAL/JTA[  JAL 54,000 28% 27,000 64% 29,750 60%
€ JAL _[JAL/JTA] 54,000 28% 27,000 64% 29,750 60%
hEE (RER) =T E = (F JAL/JTA[  JAL 52,000 25% 26,000 63% 28,800 59%
€ JAL _[JAL/JTA] 52,000 25% 26,000 63% 28,800 59%
EE(BRER) =1L € JAL/JTA[  JAL 52,000 18% 26,000 59% 28,800 55%
R JAL _[JAL/JTA] 52,000 18% 26,000 59% 28,800 55%
IR (| =& 12 JTA JAL 52,800 30% 26,400 65% 28,950 62%
a2 JAL JTA 52,800 30% 26,400 65% 28,950 62%
ER(RER) =/ EGACRE:D) JAL/JTA[  JAL 48,000 28% 24,000 64% 26,200 61%
R CRHEH) JAL _[JAL/JTA] 48,000 28% 24,000 64% 26,200 61%
PEBBR) =8 FEE] JTA [UAL/JAC 32,400 42% 16,200 71% 20,150 64%
B JAL/JAC] JTA 32,400 42% 16,200 71% 20,150 64%
ER (RER) =4l = JTA JAC 33,500 36% 16,750 68% 17,850 66%
e JAC JTA 33,500 36% 16,750 68% 17,850 66%
RE(PH)=BEKRS BERE JAL JAC 45,800 31% 22,900 66% 28,100 58%
KB (D) JAL JAL 45,800 27% 22,900 64% 28,100 55%
ERE JAC JAL 45,800 31% 22,900 66% 28,100 58%
KB () JAL JAL 45,800 27% 22,900 64% 28,100 55%
RR(PH) =ERE BERE JAL JAC 45,350 31% 22,700 65% 28,150 57%
BEXE JAL JAC 45,350 22% 22,700 61% 28,100 51%
ERE JAC JAL 45,350 31% 22,700 65% 28,150 57%
BEXE JAC JAL 45,350 22% 22,700 61% 28,100 51%
RROCHA) =25 BERE JAL JAC 46,950 33% 23,500 66% 28,850 59%
BEXE JAL JAC 47,800 23% 23,900 61% 29,400 52%
ERE JAC JAL 46,950 33% 23,500 66% 28,850 59%
BEXE JAC JAL 47,800 23% 23,900 61% 29,400 52%
R (FA) =k RE ERE JAL JAC 48,350 32% 24,200 66% 30,050 57%
ERE JAC JAL 48,350 32% 24,200 66% 30,050 57%
BERE JAC JAL 48,350 26% 24,200 63% 30,050 54%
Bl BEXE | JAC JAC JAL | 48350 38% 24,200 69% 30,050 61%
HR(HR)=5H ERE JAL JAC 48,750 32% 24,400 66% 30,300 58%
ERE JAC JAL 48,750 32% 24,400 66% 30,300 58%
BEXE JAC JAL 48,700 28% 24,350 64% 30,250 56%
ShXBE | BEKE | JAC JAC JAL | 48700 35% 24,350 68% 30,250 60%
KR () =BEXS BER JAC JAC 40,700 25% 20,350 63% 24,700 55%
BER JAC JAC 40,700 25% 20,350 63% 24,700 55%
KR () =ERE BR JAC JAC 40,600 24% 20,300 62% 25,000 53%
BEXE JAL JAC 40,600 15% 20,350 58% 24,950 48%
ERE JAC JAC 40,600 24% 20,300 62% 25,000 53%
BERE JAC JAL 40,600 15% 20,350 58% 24,950 48%
KR () =28 BERE JAC JAC 42,100 27% 21,050 64% 25,700 56%
BEXE JAL JAC 42,900 17% 21,450 59% 26,250 49%
ERE JAC JAC 42,100 27% 21,050 64% 25,700 56%
BEXE JAC JAL 42,900 17% 21,450 59% 26,250 49%
KIR (F51) = ik RE BER JAC JAC 43,250 26% 21,650 63% 26,700 54%
BER JAC JAC 43,250 26% 21,650 63% 26,700 54%
KB (D =55k BR JAC JAC 43,650 27% 21,850 64% 26,950 55%
BER JAC JAC 43,650 27% 21,850 64% 26,950 55%
BE=BEXS R JAC JAC 32,750 29% 16,400 64% 19,700 57%
BER JAC JAC 32,750 29% 16,400 64% 19,700 57%
ER=ERE5 BER JAC JAC 33,650 25% 16,850 63% 20,600 54%
BEXE JAC JAC 33,650 23% 16,850 62% 20,600 53%
ERE JAC JAC 33,650 25% 16,850 63% 20,600 54%
BEXE JAC JAC 33,650 23% 16,850 62% 20,600 53%
BE=fE25 BERE JAC JAC 34,150 31% 17,100 66% 20,700 58%
BEXE JAC JAC 34,150 28% 17,100 64% 20,700 57%
ERE JAC JAC 34,150 31% 17,100 66% 20,700 58%
BEXE JAC JAC 34,150 28% 17,100 64% 20,700 57%
12 =k RER R JAC JAC 35,300 30% 17,650 65% 21,700 57%
BER JAC JAC 35,300 30% 17,650 65% 21,700 57%
B =5R BR JAC JAC 35,700 31% 17,850 66% 21,950 58%
ERS JAC JAC 35,700 31% 17,850 66% 21,950 58%
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BE®AR - 2012/9/21 ~
BERH 10/28-11/22 | EHH EEH B
P gEip® | TEET |00 prlaghe & 12/1-12/6 | o wE 11/23-25 | R
XEo [ mme ] /2611/ = ES kS TR
AR FTFRR) =R [ ALWR BTk % | R CHA) JAL JAL 31,300 1% 31,300 51% — —
0 | FE L5 R (T JAL JAL 1,300 1% 1,300 51% p— p—
IRETFR) =8 E) | AR FHFR) F | EKZ(CHA) JAL | JAL/JTA| 40,300 46% 40,300 46% — —
PNAGTD) JAL | JAL/JTA| 40,300 47 40,300 47% p— p—
AEE(RED) [ JAL JTA 40,300 47 40,300 47% p— p—
] JAL JTA 40,300 49 40,300 49% p— p—
BB E | EECRHA) [ JALJTA|  JAL 40,300 46 40,300 46% — —
AR (BFE) | JAL/JTA| JAL 40,300 47% 40,300 47% p— p—
AEE(RE) [ JTA JAL 40,300 47% 40,300 47% p— p—
12 JTA JAL 40,300 49% 40,300 49% — —




